Math 209 page 49 #51

Write an equation of line through each indicated pair of points. Write the final answer in the form 
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#51. 
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Solution:

One of my students try to solve this problem using the formula
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But in the above process we used the concept fraction. In real number we do not accept the fraction divide by 0.
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 is not defined. So the process
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has little meaning. But we can modify the above process by 
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This means the ratio between 
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So we escape the fraction divisible by 0. Thus
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By cross multiplication 
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So let us solve this problem not using ratio concept.

Let the line 
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So 
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 are constant.

By subtraction second equation from the first equation we got
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Thus from 
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By assumption of line 
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